Converting Between L, kL, ML, and GL (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
] ' — — o

5 & ° 3 §i ig E E g £

B g T & 9, 19 8 E g g

: : ——————— : : > X

G M k h da: 'd ¢ m W n

9 8 7 6 5 4 3 2 11011 -2 3 4 -5 6 -7 -8 -9

. Convert 0.789 kL to L
Convert 0.0809 GL to kL

Convert 859,000 kL to ML

Convert 0.00000031 GL to L

Convert 3.5 GL to ML

Convert 133.3kL to L

Convert 44,500,000 L to ML

Convert 141,200,000 L to ML

Convert 223,600,000 kL to ML

Convert 6,090,000,000 L to GL
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Converting Between L, kL., ML, and GL (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!3_a_s_e
< o . T o o

g 1 2 8 8 18 £ E g g
& : T 2 %1 18 8 E E g
: : - : : —p» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9

. Convert 0.789kL to L

0.789kL X 10x 10X 10 =789L

Convert 0.0809 GL to kL

0.0809 GL X 10 X 10 X 10 X 10 X 10 X 10 = 80,900 kL.

Convert 859,000 kL to ML

859,000kL - 10 - 10 + 10 = 859 ML

Convert 0.00000031 GL to L

0.00000031 GLX10X10Xx10X10Xx10Xx10Xx10Xx10x 10 = 310L
Convert 3.5 GL to ML

3.5GL X 10x10x 10 = 3500 ML

Convert 133.3KkL to L

133.3kL X 10X 10X 10 = 133,300 L

Convert 44,500,000 L to ML

44,500,000L +-10+10+10+10+ 10+ 10 = 44.5ML

Convert 141,200,000 L to ML

141,200,000L +-10+10+-10+10+10+10 = 141.2ML

Convert 223,600,000 kL to ML

223,600,000kL - 10 + 10 = 10 = 223,600 ML

Convert 6,090,000,000 L to GL
6,090,000,000L+-10+10+-10+-10+-10+-10+10+10=+10 = 6.09 GL
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Converting Between L, kL., ML, and GL (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 g s § gt ig E 3 2
& g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:051-2 3 4 5 -6 -7 -8 -9

Convert 587,000,000,000 L to GL

Convert 45,700 kL to ML

Convert 0.00005201 GL to L

Convert 400,100,000,000 kL to GL

Convert 878,400,000,000 L to ML

Convert 0.00423 ML to L

Convert 539,000 kL to ML

Convert 2.15kL to L

Convert 6.537 kL to L

Convert 9.74 GL to ML
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Converting Between L, kL., ML, and GL (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
b E T & 39 135 8 E E z
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9

Convert 587,000,000,000 L to GL
587,000,000,000L+-10+-10+-10+-10+-10+-10+10+10+10 = 587GL
Convert 45,700 kL to ML

45,700kL =10 +- 10 =10 = 45.7 ML

Convert 0.00005201 GL to L

0.00005201 GL X 10X 10x 10X 10X 10x 10X 10 x 10 X 10 = 52,010 L
Convert 400,100,000,000 kL to GL

400,100,000,000kL =10 +-10+10+ 10+ 10 = 10 = 400,100 GL
Convert 878,400,000,000 L to ML

878,400,000,000L -10+-10+10=+10+10+10 = 878,400 ML
Convert 0.00423 ML to L

0.00423ML X 10X 10X 10X 10X 10X 10 =4230L

Convert 539,000 kL to ML

539,000kL - 10 =10+ 10 = 539 ML

Convert 2.15kL to L

2.15kL X 10X 10X 10 = 2150L

Convert 6.537KkL to L

6.537KkL X 10X 10 X 10 = 6537 L

Convert 9.74 GL to ML

9.74GL X 10X 10 X 10 = 9740 ML
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Converting Between L, kL, ML, and GL (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o 1 1 — — e
5 2 ° % 8 i3 E E S z
B S Z =2 =i +o 8 E S S
: : ——————— : : > X
G M k h da: !d ¢ m 2 n
9 8 7 6 5 4 3 2 1:+0:i-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 0.2885 kL to L

Convert 1.02kL to LL

Convert 0.0000006004 GL to L

Convert 0.0000286 ML to L

Convert 43,000 kL to ML

Convert 87,300,000 ML to GL

Convert 9,340,000,000 L to GL

Convert 4,620,000 L to ML

Convert 840,000 kL to GL

Convert 0.0635 ML to kL
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Converting Between L, kL, ML, and GL (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 2 e g8 8 13 2 2 S z
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0.-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 0.2885KkL to L

0.2885kL X 10 x 10 X 10 = 288.5L

Convert 1.02kL to L

1.02kL X 10X 10 X 10 = 1020 L

Convert 0.0000006004 GL to L

0.0000006004 GL X 10X 10X 10X 10X 10x10x 10 x 10 X 10 = 600.4 L
Convert 0.0000286 ML to L

0.0000286 ML X 10X 10X 10X 10X 10x 10 =28.6 L

Convert 43,000 kL to ML

43,000kL =-10+10+10=43ML

Convert 87,300,000 ML to GL

87,300,000 ML =10+ 10+ 10 = 87,300 GL

Convert 9,340,000,000 L to GL

9,340,000,000L +10+-10+10+10+-10+10+10+10+10 =9.34GL

Convert 4,620,000 L to ML
4,620,000L=-10+-10+-10+-10+-10+10 =4.62ML
Convert 840,000 kL to GL

840,000kL -10+-10+10+10+10+10 = 0.84 GL
Convert 0.0635 ML to kL

0.0635 ML x 10 X 10 X 10 = 63.5kL
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Converting Between L, kL., ML, and GL (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 g s § gt ig E 3 2
& g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:051-2 3 4 5 -6 -7 -8 -9

. Convert 0.0000084 GL to kL

Convert 0.5548 ML to L

Convert 5,110,000 L to kL

Convert 0.00000000518 GL to L

Convert 0.01589 GL to ML

Convert 0.00697 kL to L

Convert 9,074,000,000 L to ML

Convert 50,300,000 kL to ML

Convert 45,540,000,000,000 L to GL

Convert 1930 kL to ML
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Converting Between L, kL, ML, and GL (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
b E T & 39 135 8 E E z
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9

. Convert 0.0000084 GL to kL

0.0000084 GL X 10 X 10 X 10 X 10 X 10 X 10 = 8.4 kL

Convert 0.5548 ML to L
0.5548 ML X 10x 10X 10x 10X 10 x 10 = 554,800 L

Convert 5,110,000 L to kL

5,110,000L =10 + 10 + 10 = 5110kL

Convert 0.00000000518 GL to L

0.00000000518 GL X 10X 10x10x10x10x10x10x10x 10 =5.18L
Convert 0.01589 GL to ML

0.01589 GL x10x 10 x 10 = 15.89 ML

Convert 0.00697 kL to L

0.00697kL x 10X 10 X 10 = 6.97 L

Convert 9,074,000,000 L to ML

9,074,000,000L -10+-10+-10+10+10+10 = 9074 ML

Convert 50,300,000 kL to ML

50,300,000 kL =10 - 10 = 10 = 50,300 ML

Convert 45,540,000,000,000 L to GL

45,540,000,000,000L =-10+10+-10=+-10+10+-10+10+ 10+ 10 = 45,540 GL
Convert 1930 kL to ML

1930kL - 10+ 10+ 10 = 1.93 ML
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Converting Between L, kL, ML, and GL (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
5, % ° § §i ig £ 5 £
) g T 2 S: 15 8 E g g
: : ——————— : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1 0.-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 0.04655 GL to kL.
Convert 9,050,000 kL to ML

Convert 3500 ML to GL

Convert 640,000,000 L to ML

Convert 0.00000287 GL to L

Convert 730,900 L to kL.

Convert 4.9 ML to kL.

Convert 89,600,000,000,000 L to GL

Convert 0.00063 ML to L

Convert 0.0054 kL to L
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Converting Between L, kL, ML, and GL (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o . ! —- e ] o
o 5 o § §t i1g E EZ g g
& : T 2 %1 18 8 E E g
: : - : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 -4 -5 -6 -7 -8 -9
. Convert 0.04655 GL to kL
0.04655GL x10x 10X 10 X 10 X 10 X 10 = 46,550 kL
Convert 9,050,000 kL to ML
9,050,000 kL + 10 + 10 = 10 = 9050 ML
Convert 3500 ML to GL

3500ML +-10+10-+10=3.5GL

Convert 640,000,000 L to ML

640,000,000L +-10+10+10+10+10+10 = 640 ML

Convert 0.00000287 GL to L

0.00000287GL X 10X 10X 10X 10X 10X 10X 10X 10x 10 =2870L
Convert 730,900 L to kL.

730,900L =10 + 10 =10 = 730.9kL

Convert 4.9 ML to kL

49ML X 10 X 10 X 10 = 4900 kL.

Convert 89,600,000,000,000 L to GL

89,600,000,000,000L +10+-10+10+10+-10+10+10+ 10+ 10 = 89,600 GL
Convert 0.00063 ML to L

0.00063ML x10x10x10x10x10x 10 =630L

Convert 0.0054 kL to L

0.0054KkL X 10X 10X 10 =54L
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Converting Between L, kL, ML, and GL (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
5 g s § gt ig E 3 2
) g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da: id ¢ m u n
9 8 7 6 5 4 3 2 1:051-2 3 4 5 -6 -7 -8 -9

. Convert 0.7219 ML to kL.

Convert 0.0000955GL to L

Convert 0.598 ML to kL.

Convert 5960 L to kL

Convert 0.00362 ML to L

Convert 0.001712 GL to kL

Convert 880,000,000 L to GL

Convert 893,300 L to kL

Convert 1,200,000 ML to GL

Convert 730,000,000 L to ML
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Converting Between L, kL, ML, and GL (F) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
& E T 2 5 135 8 E E z
— < : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0,-1 2 -3 4 -5 -6 -7 -8 -9

1. Convert 0.7219 ML to kL
0.7219 ML x 10 X 10 X 10 = 721.9kL
2. Convert 0.0000955GL to L
0.0000955GL X 10X 10X 10X 10X 10X 10X 10X 10X 10 = 95,500 L
3. Convert 0.598 ML to kL
0.598 ML x 10 X 10 X 10 = 598 kKL
4. Convert 5960 L to kL.
5960L - 10 =~ 10+ 10 = 5.96 kL
5. Convert 0.00362 ML to L
0.00362ML X 10X 10X 10X 10X 10X 10 = 3620 L
6. Convert 0.001712 GL to kL
0.001712GL X 10X 10x 10X 10 X 10 X 10 = 1712KkL
7. Convert 880,000,000 L to GL
880,000,000L +-10+10+-10+-10+-10+-10+10+10-+10 = 0.88 GL
8. Convert 893,300 L to kL
893,300 L - 10 +~ 10 = 10 = 893.3 kL
9. Convert 1,200,000 ML to GL
1,200,000 ML =10+ 10+10 = 1200 GL
10. Convert 730,000,000 L to ML
730,000,000L=-10+-10+10+-10+10+10 = 730 ML
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Converting Between L, kL, ML, and GL (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 g s § gt ig E 3 2
& g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:051-2 3 4 5 -6 -7 -8 -9

. Convert 63,000 L to kL

Convert 0.00000005332GL to L

Convert 3,414,000 L to kL

Convert 0.00349 GL to ML

Convert 0.0459 ML to kL

Convert 0.0000197 ML to L

. Convert 6,690,000 kL to ML

Convert 149,500,000,000 L to GL

Convert 2,500,000 L to ML

Convert 0.0000049 GL to kL
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Converting Between L, kL., ML, and GL (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9
Convert 63,000 L to kL.

63,000L =10 =10+ 10 = 63kL

Convert 0.00000005332GL to L

0.00000005332GL X10x10x10Xx10x10x10x10X%x10Xx 10 = 53.32 L
Convert 3,414,000 L to kL

3,414,000L - 10 - 10 + 10 = 3414 kL

Convert 0.00349 GL to ML

0.00349 GL X 10 x 10 X 10 = 3.49 ML

Convert 0.0459 ML to kL

0.0459 ML x 10 X 10 X 10 = 45.9KkL

Convert 0.0000197 ML to L

0.0000197ML X10X10xXx10x10x10x10=19.7L

Convert 6,690,000 kL to ML

6,690,000kL =~ 10 + 10 = 10 = 6690 ML

Convert 149,500,000,000 L to GL

149,500,000,000L +-10+10+-10+-10+-10+-10+10+10+=10 = 149.5GL
Convert 2,500,000 L to ML

2,500,000L+-10=-10+-10+10+=10+10 = 2.5ML

Convert 0.0000049 GL to kL

0.0000049 GL X 10 X 10 X 10 X 10 X 10 X 10 = 4.9kL
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Converting Between L, kL, ML, and GL (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
1 — o
5 o c 5 g ‘g E £ S z
B S 2 =& w' 15 8 E S S
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:051 2 3 4 -5 6 -7 -8 -9

Convert 4,940,000,000 L to ML

Convert 440 L to kL

Convert 27,000,000,000 L to GL

Convert 850,000 kL to GL

Convert 8,790,000,000 L to ML

Convert 0.0000000125GL to L

Convert 3.6 ML to kL.

Convert 0.06915 ML to kL

Convert 0.82kL to L

Convert 9.22 GL to ML
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Converting Between L, kL, ML, and GL (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
b E T & 39 135 8 E E z
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9

Convert 4,940,000,000 L to ML
4,940,000,000L+-10+-10+=10+-10+10=10 = 4940 ML

. Convert 440 L to kL

440L <10+ 10 =10 = 0.44kL

Convert 27,000,000,000 L to GL
27,000,000,000L+10+-10+10+-10+-10+10+-10+10+10=27GL
Convert 850,000 kL to GL

850,000kL ~+10+-10+10+10+10+10 = 0.85GL

Convert 8,790,000,000 L to ML

8,790,000,000L -10+-10+-10+10+10=+10 = 8790 ML

Convert 0.0000000125 GL to L

0.0000000125GL X 10X 10X 10X 10X 10X 10X 10x 10X 10 =12.5L
Convert 3.6 ML to kL

3.6 ML X 10 X 10 X 10 = 3600 kL

Convert 0.06915 ML to kL

0.06915ML X 10 X 10 X 10 = 69.15kL

Convert 0.82kL to L

0.82kL X 10X 10X 10 = 820L

Convert 9.22 GL to ML

9.22GL X 10X 10 X 10 = 9220 ML
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Converting Between L, kL, ML, and GL (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o 1 1 — — e
) o s 5 §i i3 § 2 3 £
B S Z =2 =i +o 8 E S S
: : ——————— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:0,-1 2 3 4 5 6 -7 -8 9
. Convert 0.0306 GL to kKL

Convert 69,790,000,000 L to ML

Convert 0.000000506 GL to L

Convert 0.00047 ML to kL

Convert 0.00573 GL to ML

Convert 50,960 kL to ML

Convert 971,500,000 L to kL

Convert 28,280,000,000,000 L to GL

Convert 0.06811 kL to L

Convert 2,566,000,000 L to ML
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Converting Between L, kL, ML, and GL (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0306 GL to kL

0.0306 GL X 10 X 10 X 10 X 10 X 10 X 10 = 30,600 kL.

Convert 69,790,000,000 L to ML

69,790,000,000L =-10+10+10+10+ 10+ 10 = 69,790 ML
Convert 0.000000506 GL to L

0.000000506 GLX 10X 10X 10X 10X 10X 10X 10X 10 x 10 = 506 L
Convert 0.00047 ML to kL

0.00047 ML X 10 X 10 X 10 = 0.47 kL

Convert 0.00573 GL to ML

0.00573GL x10x 10 x 10 = 5.73 ML

Convert 50,960 kL to ML

50,960kL - 10+ 10 =10 = 50.96 ML

Convert 971,500,000 L to kL

971,500,000 L - 10 =10 + 10 = 971,500 kL.

Convert 28,280,000,000,000 L to GL

28,280,000,000,000L -10+10+10+-10+-10=10+10+10+ 10 = 28,280 GL
Convert 0.06811 kL to L

0.06811 kL X 10X 10 x 10 = 68.11 L

Convert 2,566,000,000 L to ML

2,566,000,000L -10+-10+10+10+ 10+ 10 = 2566 ML
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Converting Between L, kL, ML, and GL (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
1 — o
5 o c 5 g ‘g E £ S z
B S 2 =& w' 15 8 E S S
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:051 2 3 4 -5 6 -7 -8 -9

Convert 4,110,000 ML to GL

Convert 2.125kL to L

Convert 23,710,000,000 L to GL

Convert 0.00307 ML to kL

Convert 3,178,000,000 L to ML

Convert 456,300 L to kL

Convert 0.000623 ML to L

Convert 1,340,000,000 L to GL

Convert 0.04061 ML to kL

Convert 0.00000561 GL to kL.
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Converting Between L, kL., ML, and GL (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
D g g 2 5 15 8 E g g
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9

Convert 4,110,000 ML to GL
4,110,000ML -10+-10+-10 =4110GL

. Convert2.125kLto L

2.125kL X 10X 10X 10 = 2125L

Convert 23,710,000,000 L to GL

23,710,000,000L =-10+-10+-10+-10+-10+10+10+ 10+ 10 = 23.71GL
Convert 0.00307 ML to kL.

0.00307 ML x 10 X 10 X 10 = 3.07kL

Convert 3,178,000,000 L to ML

3,178,000,000L -10+10+-10+-10+10+10 = 3178 ML

Convert 456,300 L to kL

456,300 L - 10 =10 + 10 = 456.3kL

Convert 0.000623 ML to L

0.000623ML X 10X 10X 10X 10X 10X 10 = 623 L

Convert 1,340,000,000 L to GL
1,340,000,000L+-10+10+-10+-10+-10+-10+10+10+10=1.34GL
Convert 0.04061 ML to kL

0.04061 ML x 10 X 10 X 10 = 40.61 kL.

Convert 0.00000561 GL to kL

0.00000561 GL X 10 X 10 X 10 X 10 X 10 X 10 = 5.61 kL.
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